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QUESTION 1

An administrator has created a Virtual Flash Read Cache and needs to add a total 2TB of capacity to the cache. The
administrator has a total of six SSD disks to add, but is unable to add one of the disks.

What is a likely cause of the problem?

A. The SSD device size is less than 256GB.
B. The SSD device size is greater than 4TB.
C. The SSD device is a local disk.

D. The SSD device contains existing data.

Correct Answer: B

QUESTION 2

A vCloud Automation Center administrator needs to allow users to revert their machines to their initial deployment
state.

What should the administrator do?

A. Enable the Reprovision option in the blueprint.
B. Enable the Snapshot option in the blueprint.

C. Enable the Linked Clone option in the blueprint.
D. Enable the Destroy option in the blueprint.

Correct Answer: A

QUESTION 3

An SSO user cannot log in to the Application Services appliance with vCloud Automation Center 6.1 Single Sign-On
(SSO). The corresponding vCloud Automation Center 6.1 instance is running and healthy.

What is the most probable cause?

A. The Application Services appliance is unable to resolve the host name for SSO.
B. The Application Service appliance received the wrong server identification.

C. The Application Service appliance lost network connectivity.

D. The Application Service appliance was installed with the wrong credentials.

Correct Answer: A
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What could cause an upgrade of the laaS components to fail?

A. The vCloud Automation Center Service Manager Service is running.

B. The vCloud Automation Center Agent Service is running.

C. The vCloud Automation Center Service Manager Service is not running.

D. The vCloud Automation Center Agent Service is not running.

Correct Answer: A

QUESTION 5

Refer to the exhibit.
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The administrator needs external machines to connect to the virtual machine with the IP address

10.10.10.50.
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Which IP address and port should the administrator use?
A. IP 10.10.10.50, Port 22

B. IP 10.131.12.169, Port 50000

C.IP 10.131.12.169, Port 22

D. IP 10.10.10.50, Port 50000

Correct Answer: B
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